Question # 1 Fill-in the-Blank
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. 15 @ NUMerical description of the cutcome of an experiment.

) The ham_e (ot-shapé}-oﬁthe discrete random variables that express number.of cars that arrive-at a

Gas station ()i Hesw each hourin a given day ‘is:....p.cu.&.a. 2+ WO Randorm
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1) & random variable that may assume e:;?ﬁa{_iﬂljé-number of values or an infinite sequence of

valuessuchas 0, 1, 2. Is @ o foyo P %.... Random variable
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V) The name {or shiape) of the ccmtmuous randonrvariables that express numbel oﬂnoursjhfe time)

of ) a Iamp can funstion before falure ISt o TR “Random variable
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A local ambulance service handles 0 to 5 service calls on any given day The probability distribution.for the'number of
service calls is shown in the following Table . Use tiie table to answer questions{] to {V).

X 0 1 2 3 4 5
X 0 T 4 9 18 25
p(x) 15 10 10 30 15 |20
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V) The standard deviation of X is
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Part: Show all your work
16. A life insurance company has setermined that each week ar average of 10 claims
1s filed in one of its branch.

g {? s, a. What is the probability that during the next week exactly 5 claims will be
filed?
e b, What is the expected number ofclaims im two weeks?
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17. The average price of personal computers manufactured by MNM Company is
$1,200 with a standard deviation of $200. Furthermore, it is known that the
computer prices manufactured by MNM are normally disiributed. DO NGT
ROUND YOUR NUMBERS.

¥ olnd 7 a. What is the probability that a rapdomiv selected computer will have a price of
at least $1,5007

5, £, c. What are the minimum and the maximum valu'=s of the middle 95 % of
computer prices?
5

1y d. I 513 of the MNM computers were priced at or below $647.80, how many
computers were produced by MNM?
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\ 53 18. Twenty percent of the applications received for a particuiar position are rejected. < :
What is the probability that among the next 5C applications, . (e e
L fo ‘ a. More than 12 will be rejected? ;

- I . B
5/ Y b. Determine the expected number of rejected applications and its variance. Qﬁ .& :
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19. Students of a large university spend an average of $8 a day on lunch. The
standard deviation of the expenditure is $4. A simple random sample of 64 é h 7 20

students is taken. \\Jcﬂ’ W\-Of\
5 a"fﬂmlg I a. ‘What are the expected value, standard deviation, and sirape of the sampling
distribution of the sample mean?
b. What is the probabil ity that the sample mean will be at most $97 ¢
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! 20. Ten percent of the items produced by a machine are defective. A random sample ¢
of 100 items is selected and chec'«:d. for defects.
a. Determine the standard error of the sample proportion.
b. What is the probability that the sample will contain more than 2.5% defective
units? '
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Question # 6-
) I
A simple random sample of size 144 is selected-from a population with n=0:40

a. Whatis tbc expected value of the spiple proportion p

i d. What is the probability that the sample proportion will be within £ 0.03 inf the population proportion
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Question #5

The time needed to finish the second exam in $tat236 is norsally distributedwith-mean o{é@minutes and a
standard deviation of 10 minutes, Answer the folowing questions.

—

s Wihat's the prababilty of cormpleing he exar n 70 inutas o [ss?
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b. Whatis the probability that a random sample of mtudent will hgve aisample meanjtime of
completing the exam of(morg than 59 minutes but { in less than 60.5-minutes?
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c. Assume that the class has 180 students and that the.examination period ctsd¥itiajs 80 minutesin How
rnany students do you expect will be unable to finish the exam in the allowable time {you're your work)
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